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What you will learn about;
Solve Mixture Problems using System of Equations

Translate to a system of equations and then solve: Jamie has
seventeen total coins in her purse. She has only quarters and dimes.
The change in her purse totals up to $2.90. How many quarters does
she have? How many dimes does she have?
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dsw dines A<  I5qrid=3
Gl 254 +lo(11-3)

» A54 +170-109

ol =7 /15¢ = | &G

Translate to a system of equations and then solve: The box office at
a movie theater sold 147 tickets for the evening show, and receipts
totaled 51,302. How many 511 adult and how many 58 child tickets

were sold? 4 7, =147 w
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Translate to a systemv/of equations and then solve: A science center
sold 1,363 tickets on a busy weekend. The receipts totaled 512, 146.
How many $12 adult tickets and how many $7 child tickets were
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Translate to a system of equations and then solve: Steve has a

number of nickels in six less than three times the number of
quarters. How many nickels and how many quarters does he have?

Translate to a system of equations and then solve: Juan has a pocket
full of nickels and dimes. The total value of the coins is $8.10. Juan

has a total of 99 coins in his pocket. How many nickels and how
many dimes does Juan have?

n+od= 94 .08Snt.lod= 3.0
Sntiod= 8io

L n +dd = 14
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Translate to a system of equations and then solve: Carson wants to
make__z_ﬂ_pounds of trail mix using nuts and chocolate chips. His
budget requires that the trial mix costs himm $7.60 per pound. Nuts
cost $9.00 per pound and chocolate chips costs $2.00 per pound.

How many pounds of nuts and how many pounds of chocolate chips
should he use.

collections of nickels and quarters, with a total value of of 57.30. The
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Translate to a system of equations and then solve: Greta wants to
make 5 pounds of a nut mix using peanuts and cashews. Her budget
requires the mixture cost her 56 per pound. Peanuts are 54 per
pound and cashews are $9 per pound. How many pounds of peanuts
and how many pounds of cashews should be used?
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Translate to a system of equations and then solve: Salley is a lab
assistant at her community college. She needs to make 200

X= M‘! 254 solbiew] milliliters of a 40% solution of suffuric acid for a lab experiment. The

yzml So% solut-s
120 nd of S

lab has only 25% and 50% solutions in the storeroom. How much
should she mix of the 25% and 50% solutions to make the 40%

solution? X+y=200 «dSX +.Sa>(=aoac.
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Translate to a system of equations and then solve: Marcus needs
150 milliliters of a 30% solution of sulfuric acid for a lab experiemtn
but only has access to a 25% and a 50% solution. How much of the
25% and how much of the 50% solution should he mix to make the
30% solution?
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Translate to a system of equations and then solve: Adrian has
$40,000 to invest and hopes to earn 7.1% interest per year. He will
put some of the money into a stock fund that earns 8% per year and

Translate to a system of equations and then solve: Leon had $50,000
to invest and hopes to earn 6.2% interest per year. He will put some
of the money into a stock fund that earns 7% per year and the rest
into a savings account that earns 2% per year. How much money
should he put into each account?

O7x t.ody = Nleo
7X+2y =3lo,000

™) _axtey=lo000
Sx = 2lgeoo

X = 42,000

Translate to a system of equations and then solve: Rosie owes
$21,540 on her 2 student loans. The interest rote on her bank loan is
10.5% and the interest rate on the federal loan is 5.9%. The total
amount of interest she paid last year was $1,669.68. What was the
principle for each loan?

/X ¥2y = Bblgooo
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the rest into bonds that earns 3% per year. How much money should

he put into each fund?é(.‘ \/ = Yo, oﬂﬂ)} , 08X+, D}\/: Yo o000 (-079
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What you will learn about:
Solving Systems of Linear Inequalities

I, o
olve the system by graphing y<x+1
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x—y>3
Solve the system by graphing
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_ fx—2y <S5
Solve the system by graphing
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Solve the system by graphing {x —2y< —4
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Solve the system by graphing {
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Solve the system by graphing{
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Christy sell here photographs at a booth at a street fair. At the start
of the day, she wants to have at least 25 photos to display at her
booth. Each small photo she displays cost her $4 and each large
photo costs her $10. She doesn’t want to send more than 5200 on
photos to display. Write a system of inequalities to model this
situation. Graph the system.

52

Could she display 15 small and 5 large photos? NU

Could she display 3 large and 22 small photos? Y,
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Omar needs to eat at least 800 colories before going to his team
\/ =# of Cookics

Q‘fﬂiﬁ' ‘Jéay ? &0 inequalities to model this situation. Graph the system.
]

practice. All he wants is hamburgers and cookies and he doessn’t
want to spend more than $5. At the hamburger resturant near his
college each hamburger has 240 calories and costs $1.40. Each
cookie has 160 coalories and costs $0.50. Write a system of

Could he eat 3 hamburgers and 1 cookie?

Could he eat 2 hamburgers and 4 cookies?

34|Page



